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General Instructions:

1. All questions are compulsory.

2. The question  paper consists of 30 questions divided  into four    sections –  A, B, C  and  D. Section  A  contains  10  questions of  1  mark  each, Section  B  is of  5   questions of  2 marks  each, Section  C  is of 10 questions of 3 marks each  and  section  D is  of  5 questions of 6 marks each. 

3. In question on construction, the drawing should be neat and exactly as per the given measurements.
4.  In question on construction, the drawing should be neat and exactly as per the given measurements.

5. Use of calculator is not permitted.  .
SECTION –A

1. If p/q is a rational number ( q≠0 ), what is condition of q so that the decimal representation of p/q is terminating ?
2. Find the quadratic polynomial whose zeros are 2 / 3 and -1 / 4.
3. For what value of k will the following system of linear equation have no solution?

      3x+y=1, (2k-1)x+(k-1)y=2k+1 

4. What is the nature of roots of 2x2 -4x+3.
5. If the sum of first n terms of an A.P is 3n2 – 2n, find the A.P and its 19th term. 
6. Find x if mode of the following data is 25 : 15, 20, 25, 18, 14, 15, 25, 15, 18, 16, 20, x, 18.
7. A kite is flying, attached to a thread which is 165 m long. The thread makes an angle of 300, find
 
the height of the kite from the ground, assuming that there is no slack in the thread.
8.  The radii of two circles are 19 cm and 9 cm. Find the radius of the circle which has circumference equal 

to the sum of the circumference of the two circles.
9. D is a point on the side BC of 
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ABC such that 
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ADC = 
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BAC. Prove that CA / CD = CB / CA.
10. In a single throw of coins , find the probability of getting 


i) At most heads

ii) At least one heads
Section – B
11. How many term of an A.P. – 10, - 7, - 4 ….. must be added to get the sum 104.
12. If tan (A - B) = 1 and sin ( A + B ) = 1, find A and B.
13. Prove that the points ( 0,0 ), ( 5,5 ) and ( -5,5 ) are vertices of a right isosceles triangle.
14. ABC is right angled at C. If p is the length of the perpendicular from C to AB and AB=c ,BC=a, CA=b 
Then prove that: 1/p2=1/a2+1/b2

15. If the point P(x,y) is equidistant from A(5,1) and B(-1,5) prove that 3x=2y.
SECTION –C
16. Show that √2 + √3 is irrational. 
17. Solve the following equations graphically:
2x + y = 6,   
4x – 2y = 4

            Shade the triangle formed by these lines and y-axis. Also find the area of the shaded triangle.

18.  How many terms of the AP 
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 will give the sum zero. 
19. Check whether the points (4,-1), (- 2,-4), (4, 0) and (2,3) are the vertices of a rectangle or not. 
20. Prove:         Cos A        +   1 + Sin A     = 2 Sec A

 1 + Sin A              Cos A  

21. Determine the ratio in which the point 
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 also find the value of a.
22. In 
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ABC

 , right angled at A, if AD perpendicular to BC prove that AB2 + CD2 = BD2 + AC2 .
23. Construct  
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ABC

 in which AB = 4 cm, angle B = 120 and BC = 5 cm. Construct another triangle AB`C` Similar to  
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ABC

 such that AB` = 5/4 AB.
24. A circle touches all four sides of quadrilateral ABCD. Prove that AB + DC = AD + BC. 
25. PA and PB are tangents from P to the circle with Centre O. LN touches the circle at M, then show that 
PL + LM = PN + NM.
SECTION –D

26. A train covered a certain distance at a uniform speed. If the train would have been 6 km/hr. faster, it would have taken 4 hours less than the scheduled time. And if the train were slower by 6 km/hr., it would have taken 6 hours more than the scheduled time. Find the length of the journey.
27. The angle of depression of the top and the bottom of a building 50 m high as observed from the top of a 
      tower are 
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respectively. Find the height of the tower and also the horizontal distance between  

      the building and the tower.
28. Prove that if a line is drawn parallel to one side of a triangle to intersect the other two sides in distinct  

      points the other two sides are divided in the same ratio.

Using the above theorem, Prove that if a line drawn parallel to parallel sides of trapezium

then it divides non-parallel in equal ratio.
29. A metallic bucket is in the shape of a frustum of a cone mounted on a hollow cylindrical base. The diameter of two circular ends of the bucket are 45 cm and 25 cm, the total vertical height is 30 cm and that of the cylindrical portion is 6 cm, find the area of the metallic sheet used to make the bucket. Also, find the volume of water it can hold.
30. The mean of the following table is 50, find the missing frequencies.
	Class )
	0 – 20
	20 – 40
	40 – 60
	60 – 80
	80 – 100
	Total

	Frequency
	17
	F1
	32
	F2
	19
	120
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